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I.  (A) Answer the following questions : 14
(1) Give the meaning of statistics and explain the importance of statistics in
Education.
(2) Give the meaning of measurement and evaluation, explain needs of
measurement and evaluation in education.
OR
(1) Explain the types of scale of measurement with example.
(2) Clarfy the difference between measurement and evaluation.
(B) Answer any four of the following questions in short. 4
(1) Ewaluation is which type of process ?
(2) Which definition of statistics was given by Croxton & Cowden ?
(3) How statistics 1s useful for research work ?
(4) ~ "The numbers given for classification of books in library’ are which types
of scale of measurement ?
(5) Internal scale measurement method 1s associated with which measure ?
(6) Which measurement 1s most precise ?
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2. (A) Answer the following questions : 14

(1) What 1s measures of Central Tendency ? Give the measurement of central
tendency and state the merits and demerits of mean.

(2) Find out mean, median and mode from the following frequency distribution :

Class 0-9 | 10-19 | 20-29 | 30-39 | 40-49 | 50-59 | 60-69 | 70-79 | 80-89

Frequency | 2 S 8 12 235 12 8 5 2

OR

(1) Find out standard deviation and co-efficient of standard deviation from the
following frequency distribution

Class 0-10 | 10-20 | 20-30 | 30-40 | 40-50 {.50-60 | 60-70

Frequency | 10 15 25 25 10 10 5

(2) Find out quartile deviation and co-efficient-of quartile devilation from the
following frequency distribution

Class 10-19 | 20-29 | 30-39.( 40-49.1 50-59 | 60-69 | 70-79 | 80-89

Frequency 2 2 10 20 25 18 11 9

(B) Answer any three of the following questions in short : 3

(1) State superiorsmeasurement of central tendency of open ended frequency
distribution.

(2) 8,5,3,5, 340 5 - Find out Mode.
(3) State Superior Measurement of Dispersion.
(4) Whatis Rang ?

(5) 5, 3,40, 8,1 - Find out Median.

3. (A) Answer the following questions 14

(1)° Give the meaning of correlation and clarify the types of correlation of
Scatter Diagram Method.

(2) Find out correlation from the following data

x |48 | 52 | 50 [ 53 |57 (40 | 45 | 55 | 54 | 46
y | 31 |32 |23 |34 |33 |36 |32 ]38 (40 | 34

OR
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(1)

Give the meaning of Product Moment Method and explain the merits and
demerits of Product Moment Method.

(2) Find out rank correlation from the following data :
x |60 |30 | 10|20 | 30 | 50 [ 30 | 40
y [ 80 | 20 | 60 | 40 | 12 | 28 | 20 | 15
(B) Answer any four of the following questions in short : 4
(1) State the Rang of correlation.
(2) In what situation rank correlation can be useful ?
(3) State the interpretation of r =—1.
(4) What 1s main limitation of scatter diagram method ?
(5) If £d? =0, what is the Rank Correlation Value ?
(6) Give definition of co-efficient of correlation.
4.  (A) Answer the following questions 14
(1) Give the meaning of normal probability eurve and clarify its characteristics
with diagram.
(2) Find out P, from the following frequeney distribution :
Class 0-10 | 10-20°| 20-30"| 30-40 | 40-50 | 50-60 | 60-70 | 70-80
Frequency | 2 S 8 16 9 5 3 2
OR
(1) Clarify the conceptof Z score and T score and state its usages.
(2) Find out PR for score 46 from the following frequency distribution :
Class | Frequency
30-34 6
35-39 8
40-44 10
45-49 11
50-54 22
55-59 14
60-64 10
65-69
70-74 6
75-79 5
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(B) Answer any three of the following questions 1n short :
Which type of Skewness1s x <M <Z?

What 1s Lepto Kurtosis ?

S
State the formula of T score.
S
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fate the use of Z score.

ate the interpretation of Pgs = 45.

O
R

O



